Pre Calculus 







Name 
HW Set 5

SHOW ALL WORK NEATLY ON OTHER PAPER!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
Solve.

1. A person standing 150 centimeters from a mirror notices that the angle of depression from his eyes to the bottom of the mirror is 13
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, while the angle of elevation to the top of the mirror is 11
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.  Find the vertical dimension of the mirror.
1.____________________________

2.  A mixing blade on a food processor extends out 3 inches from its center.  
     If the blade is turning at 600 revolutions per minute, what is the linear

     velocity of the tip of the blade in feet per minute?

2. ____________________________

3.  A gas-driven lawnmower had a blade that extends out 1 foot from its center.        
     The tip of the blade is traveling at the speed of sound, which is 1,100 feet per

     second. Through how many revolutions per minute is the blade turning?
3. ____________________________

4. The San Francisco cable cars travel by clamping onto a steel cable that     circulates in a channel beneath the streets.  This cable is driven by a large 14-foot diameter pulley, called a sheave.  The sheave turns at a rate of 19 revolutions per minute.  Find the speed of the cable car, in miles per hour, by determining the linear velocity of the cable.

4.____________________________

5. The shadow of a vertical tower is 40.6 meters long when the angle of elevation to the sun is 34.6
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.  Find the height of the tower.

5.____________________________

6. To determine the diameter of the sun, an astronomer might sight with a transit (a device used for measuring angles) first to one edge of the sun and then to the other, finding the included angle equals 1
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4. Assuming that the distance from Earth to the sun is 92,919,800 miles, calculate the diameter of the sun.
6. ____________________________

7. A ship leaves its home port and sails on a course of 28
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10.  Another ship leaves the same port and travels on a course of 118
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10.  If the first ship travels 28 mph and the second ship travels 24 mph, how far apart are the two ships after 6 hours?
7. ____________________________

8. A plane traveling on a course of 23
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sights an airport with a bearing of 113
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.  After traveling 85 miles on this course, the new bearing of the airport is 142
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.  Find the distance from the plane to the airport at each sighting.

8.____________________________
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